
©Copyright 15/12/2021LF-Rev01

05RKIT- 05RKITK
KIT SPECIFICO - SPECIFIC KIT - KIT SPECIFIQUE - SPEZIFISCHES KIT - KIT ESPECÍFICO - KIT ESPECÍFICA

1/2
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

N° Descrizione/Description Caratteristiche/Features Codice/Code Quantità/Quantity

1
Boccola - Mounting bush  

Entretoise de montage  - Cilindro de fijación 
Montagehülse - Bucha de fixação

- Z2379 4

2

Ricettacolo - Plate for Rapid Fitting screw  
Platte für schnellsverschlusse Schraube - Plaque pour vis a démontage 
rapide  Pletina para tornillo de fijación rápida - Placa para parafuso de 

fixação rápida

- Z2472 4

3
Vite - Screw 

Vis - Schraube 
Tornillo - Parafuso

TBEI M8X20 820TBEI 2

4
Vite - Screw 

Vis - Schraube 
Tornillo - Parafuso

TBEI M8X40 840TBEI 2

5
Vite - Screw 

Vis - Schraube 
Tornillo - Parafuso

TSPX M4X12 412TSPX 8

6
Vite - Screw 

Vis - Schraube 
Tornillo - Parafuso

TBEI M8X30 830TBEIH 2

7 Dado - Bolt - Ecrou
Mutter - Tuerca – Porca

M4 4DADIAUFD 8

8
Vite A Sgancio Rapido - Rapid Fitting Screw 

Schnellsverschlusse Schraube - Vis De Montage Rapide 
Tornillo De Fijación Rápida - Parafuso De Fixação Rápida

- Z1957 8

9
Rondella - Washer
Rondelle - Scheibe
Arandela – Arruela

- Z1960 8

10

Chiave Per Viti A Testa Speciale - Special Key
Cle Speciale - Spezialschlüssel

Llave Para Tornillos Con Cabeza Especial 
Chave de parafuso de cabeça especial

- PLXRC 1



©Copyright 15/12/2021LF-Rev01

05RKIT- 05RKITK
KIT SPECIFICO - SPECIFIC KIT - KIT SPECIFIQUE - SPEZIFISCHES KIT - KIT ESPECÍFICO - KIT ESPECÍFICA

2/2
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

7 mm

2,5 mm - 7mm

1 2

3 4 5 6 7

8

9 10

M4
M4x12mm

M8x20mm

Z1957

Z1960

Z2472Z2379

M8x40mm
M8x30mm


